Efficiency vs hit

1.2

efficiency vs hits

O be e Do

Ratio

—=— DQM_mkFit_TTbase

—e— DQM_mkFit_TT_retrainOldFiles125

—+— DQM_mkFit_TT_retrainNewFiles125

C| —— DQM_mkFit_TT_retrainNewFiles125AndSQCD

m
=)
)
1

0

o

o
3

0.5]

efficiency vs layers
o
(2]

0.4

0.3]

0.2]

0.

P

10

Ratio
=
T

0.8F---f-

0.6f - F- -~

25
TP layers

5
TP pixel layers

Efficiency vs 3D layer

0.8

o
3

0.6]

0.5]

efficiency vs 3D layers

0.4]

0.3]

0.2]

o
i

Ratio
N
T

12 14 16 18 20
TP 3D layers



	Contents
	Page 1


